Midline Assembly

]
)
\\

|
&
MCC MKIII Joystick
P.S. Joystick

1556 H.D. Joystick

8

Joystick
reference only.

kS
=
o
5]
©
=
]
£
=
5]
<
@
Qo
g
2
5]
S
S
T

=
Q
a
oS
L
£
3
e}
o
=
S

\




Midline Assembly

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 0063100-NLA | NLA - Collar, 2 Holes 1 1
2 0223506-NLA | NLA - Screw, Socket, Cap, Button Head (1/4-20 x 1 1
1/2"
3 1077307-NLA | NLA - Screw, Set (1/4-20 x 1/4") 1 4
4 0063000-NLA | NLA - Spring, Assist 1 1
5 1077306-NLA | NLA - Bearing, Nylon (1/2") 1 2
6 0063402-NLA | NLA - Plate, Mounting 1 1
7 0191001-NLA | NLA - Bar, Mounting 1 1
8 7930304-NLA | NLA - Screw, Socket Head (1/4-20 x 1-1/4") 25 3
9 0063202-NLA | NLA - Weldment, Collar 1 1
10 1077308-NLA | NLA - Screw, Set (1/4-20 x 1/2") 1 1
11 0053200 Rivnut (1/4-20 x 11/16") 1 1
12 1077321-NLA | NLA - Knob, Tee (1/4-20 x 1-3/4") 1 1
13 0267606-NLA | NLA - Spacer (17/64 x 21/64 x 1/2") 1 1
14 0050100-NLA | NLA - Washer, Nylon Flat (1/4 x 1/2 x 1/16") 1 2
15 0064600-NLA | NLA - Spring, Compression 1 1
16 7930333 Locknut (1/4-20) 25 1
17 1077309-NLA | NLA - Screw, Set (1/4-20 x 1") 1 1
18 0312524-NLA | NLA - Plate, Mounting, MKIV Std/ PSF/ PSR 1 1
Joystick
18 1077310-NLA | NLA - Plate, Mounting, MCC MKIII Std. Joystick 1 1
18 1077311-NLA | NLA - Plate, Mounting, 1556 H.D. / 1810M Short 1 1
Std. Joystick
18 1077312-NLA | NLA - Plate, Mounting MCCX MKIII Joysticks 1 1
18 0314602-NLA | NLA - Plate, Mounting, P.S. Joysticks 1 1
19 1077249-NLA | NLA - Screw, Socket Head (#10-32 x 3/4") 1 2
20 0068000-NLA | NLA - Screw, Phillips Flat Head (#6 x 5/8") 1 4
21 0106600-NLA | NLA - Screw Phillips Flat Head (#8-32 x 1/2") 1 2
22 1025716 Screw, Phillips Pan Head (#10-32 x 11/16") 1 2
23 0224806-NLA | NLA - Washer (#10) 1 2
24 1077313-NLA | NLA - Mid-Line Assembly, Less Half Clamps, MKIV 1 1
Std./ PSF/ PSR Joystick
24 1077314-NLA | NLA - Mid-Line Assembly, Less Half Clamps, MCC 1 1
MKIII Std.Joystick
24 1077315-NLA | NLA - Mid-Line Assembly, Less Half Clamps, 1556 1 1
Heavy Duty/ 1810M Short Std. Joystick
24 1077316 Mid-Line Assembly, Less Half Clamps, MCCX 1 1
MKIIlJoystick
24 1077317-NLA | NLA - Mid-Line Assembly, Less Half Clamps, P.S. 1 1
Joystick
25 1027266 Half Clamp, Non-Threaded Holes 1 1
26 1027267-NLA | NLA - Half Clamp, Threaded Holes 1 1




